10.

11.

12.

13.

Which of the following numbers is shown on the given abacus?
a) Sixty-seven b) Seven-sixty
c) Seventy-six d) Six-seventy

. The rat has to eat the cheese which has a number greater than the number

given below. Identify the cheese.

_SEES P N va i 5SS

C

a) ‘ b) » c) b ‘ d) b ¢

How many apples are under the tree?

a) Fourteen
b) Seven
c) Fifteen

) Ten

(oN

Which abacus represents.a number greater than 76?

a)u b)u C)u d)u

Who ami?

@ 260 ® | am a two-digit number.
S ‘. ® My tens place digit is greater than my ones place digit.
C =S

® My ones place digit is 2 more than 5.

a) 73 b) 62 c) 75 d) 87

Which of the following numbers are greater than and less than the given
number respectively? —

a) 48 and 49 b) 83 and 88
c) 85and 29 d) 23 and 48
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C H A PTER 4

Lines and Shapes

( Test Paper e

. Which of the following is formed with only slanting and standing lines?

a) <> b)ﬂ 0 . d) O

2. The shape of the cap of is a .
T
a) Circle b) Triangle c) Rectangle d) Square
3. The shape of the top of 6 is a
a) Circle b) Triangle c) Rectangle d) Square
4. The shape of a grape is an .
a) Oval b) Triangle
c) Circle d) Square
5. The given shape is formed with .
a) Only curved lines b) Onlyslanting lines *
c) Only straight lines d) Only sleeping lines
6. Which of the following are used to.draw the given shape?
a) Slanting and curved lines b) Curved and straight lines
c) Sleeping and standing lines d) Curved lines

10.

. Which of the following is formed only with curved lines?

R 5§ N +D

. Which ofthe following is formed with both standing and slanting lines?

a)@ b), C)A d)‘

. The shape of the top of the given figure is a

a) Rectangle b) Circle
c) Square d) Triangle

Which of the following is used to draw the given shape?
a) Sleeping lines and slanting lines  b) Slanting lines and standing lines W
c) Both (a) and (b) d) Neither (a) nor (b)
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10.

11.

. The height of book rack is blocks.

. Which of the following is arrangement of P, Q, and R from least capacity to

most capacity?

a) Q<P<R
b) P<Q<R @ i
c) Q<R<P P o R

d) R<Q<P

a) 15
b) 14
c) 16

d) 1

. Which of the following is the correct arrangement of the trees' P, Q, and R

from tallest to shortest?

a) P>R>Q

b) R>P>Q

cc Q>R>P

d R>Q>P

. Distance between the two houses is foot spans.
[[\_§,= 1 footspan ]
i

a) Twenty-one b) Twenty c) Twenty-two d) Ninteen
Which of the following is heaviest?

o

) All are same

Which of the following candles is taller than candle Q but shorter than
candle S?

a) P
b) M
c R ﬁ %
d) S

Page No: St o Measurements o © wwwkey2practice.com




10.

11.

12.

13.

14.

. Which of the following is enough buy the given toy train?

. Which of the following is same as the given amount?

cannot be bought by using the given money. g&%

. o @

e e e e e

) ‘ﬁeso ‘sto

c) Both (a) and (b) d) Neither (a) nor (b)

A packet of chips costs 215. Find the maximum number of packet of chips
Preeti can buy for 350.

a) 2 b) 3 c 3 d) 4

210 + 220 + 350 + 35 is same'as .
a) 375 b) %85 c) %65 d) %95

Which of the following.is true"

\fjdgsug is greater than

c) Both (a) and (b) d) Neither (a) nor (b)

Select the correct match.
a) 350 +35=1360 b) T10+310+ 310 +320 + 35 =355
c) I20+3210+310=1350 d) 320+ 320 + 320 =350

Riya goes to the market to buy a dress. Which of the following is enough to
buy the dress?

a) 350 + 350

b) ¥50 + 320 + 320 + 35
c) 350+ 320 + 320

d) ¥50+320+%10+35
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